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三角函数的诱导公式习题

1．已知sin（π＋α）= a ,α是第三象限角，则tanα=        。

2．求证：sin4（π＋α）＋cos2（－α）＋sin2（2π＋α）cos2（π＋α）= 1
3．已知cos（ eq \f(π,6) ＋α）= 
[image: image1.wmf]3

3

求cos（ eq \f(7π,6) ＋α）的值

4．化简：sin2242°＋tan2（－64°）cot 45°·
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5．设f（θ）= 
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 ，求f（ eq \f(π,3) ）的值

6．已知sin（π＋α）=－ eq \f(1,3) ，求值：（1）cos（5π＋α）；（2）tan（5π＋α）。
7．计算：tan384°tan396°tan405°tan774°tan786°

8．计算：sin（π＋ eq \f(π,6) ）sin（2π＋ eq \f(π,6) ）sin（3π＋ eq \f(π,6) ）…sin（2004π＋ eq \f(π,6) ）
9．若cos（π＋α）= －  eq \f(1,2) ， eq \f(3π,2) <α<2π，求sin（2π－α）的值。

10．已知tanα=－ eq \f(1,2) ，求sin（α－9π）cos（α＋7π）的值。
11．计算：
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12．已知x≠ eq \f(kπ,2) ，k∈Z,求证函数y = cos（tanx）是偶函数。
参考答案
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